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QUESTION 1

A two-fiber ring topology consisting of three NEs is arranged in the counterclockwise sequence as A, B, and C. Services
between A and C occupy the 48th VC-12 timeslot in the first VC-4 on the short path, and services between B and C also
occupy the 48th VC-12 timeslot in the first VC-4 on the short path. In this case, which of the following is the subnet type
of the ring protection? 

A. Unidirectional path protection ring 

B. SNCP ring 

C. Bidirectional MSP ring r 

D. All of the above 

Correct Answer: C 

 

QUESTION 2

Which of the following are VLAN classification methods? (Multiple Choice) 

A. By MAC address 

B. By port 

C. By subnet 

D. By protocol 

Correct Answer: ABCD 

 

QUESTION 3

When the lower-order resources of a device are insufficient, which of the following measures can be taken? (Multiple
Choice) 

A. Configure a VC4 server trail. 

B. Combine available lower-order resources. 

C. Use a cross-connect board with a larger lower-order cross-connect capacity. 

D. Configure VC4 services. 

Correct Answer: BCD 

 

QUESTION 4

According to ITU-T recommendations, the requirement that the MSP switching time should be within 50 ms is
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conditional. For example, the number of NEs on an entire ring network is less than 16. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 5

Which of the following statements about overhead bytes is incorrect? 

A. A1 and A2 are framing bytes. These bytes are used to separate STM-1 frames in a signal flow. 

B. J0 is a regenerator section trace byte. This byte is used to repeatedly transmit a section access point identifier, so
that the receive end can verify its continuous connection to the specified transmit end. 

C. B1 is bit interleaved parity-8 (BIP-8). This byte is used to monitor bit errors at the regenerator section layer. 

D. E1 and E2 are orderwire bytes. These bytes are used to provide a voice channel for orderwire connections. 

Correct Answer: A 
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